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1
1.1
MANUKUI2.F8r ( )
1.2
() 11
1.3
U A
1.4
50 250 100 3 000 100 250 ?O
§ o1
= 3
g g
| |
| | 7
| |
i i [BEAZ : mm]
: 3800 |
B 5000(mm)

FORUMS8




1.5

1.6

1.7

o ck 24 (N/mm?)
o ck 24 (N/mm?)
SD345
25.00 ( )
25.00 ( )
(kN/m*)
24.500
10.000
18.000 19.000
18.000 19.000
Kh 0.12
( ) kKh 0.12
( ) kKh 0.12
300 500
1:1.0 ,i/ §$

1

Lo e —

J
(m | 0.500
Hr (m | 0.000

FORUMS8



1.8
[1]

1.9
[1]

1.10

1.11
[1]

|

(m) 0.000
1.000
(m | 0.500
(m) 0.300
Hr (m) 0.000
r
- :
i
L I
b [
I [
b I
| \ J
|
l—— -
(KN/m?)
(m) (m)
0.800 00 10.000 0.000 |o |o |o
1 b
B K
b I
i I
. I
| \ ) }
- B
) (KN/m)
0.000 1.000 |o |o |o
0.000 1.000 |o |o |o
FI = 0.800 m, Fi = 0.000 m,

Fr =

1.150 m

FORUMS8




1.150

Fr=

———————————

0.800
v

Ff

2.000 m

Fr =

1.500 m,

FI =

ﬂ =1

1.400

Fi=

v

1.500

F1
N

1.12

)

(

1.13

12.500

12.500

12.500

12.500

12.500

16.667

16.667

16.667

16.667

16.667

1.909 ( )

1.507 ()

1.909 ( )

1.507 ( )

FORUMS8



1.14
1.15
1.15.1
@
(
(kN/m)
(kNm/rad)
Ky (kN/m) 109976.597
Pmin > 0 Pmin
@
1.000 (m)
o E.  kN/m?
(m)
1 5.000 5600.000 11200.000
2 5.000 28000.000 56000.000
1.15.2
( ) D 300.0 (mm)
Do 0.0 (mm)
Ds 0.0 (mm)
Ec 20.00x 10* (N/mm)
t(mm) (m)
1 SKK400 5.0 10.000

FORUMS8



1.16
1.16.1
(€D)
L = 10.000 (m)
(@)
Ra = — - Ru
n
Ru=qd A+U = (Li fi) ( )
Ru=qd A+U Z(Li fi DE) ( )
Ra : (kN)
3.0 2.0
y = 1.0
Ru : (kN)
qd : (kN/m?)
A (D)
7T
A= e +0.3000% = 0.071 (m)
R A~ DOEREAR AN X = 300
IoIRES '
FREINME = 40,0
d
99 = 990.0
N
qd = 220.0  40.0 =8800.0 (kN/m?)
u : (m)
U=m 0.3000 = 0.942 (m)
Li : ()
fi : (kN/m?)
DE :
1
vy i Ws fi Li fi
No N Li(m) | (kN/m%) (kN) | (kN/m?) (kN)
1 2.0 5.000 10.00 3.534 0.0 0.0
2 10.0 5.000 10.00 3.534 20.0 100.0
10.000 7.069 100.0
Ru=qd A+U Z (Li fi)
= 8800.0  0.071 + 0.942 100.0 =  716.283 (kN)
Ra = —— + Ru
n
1.0
= —— . 716.283 = 238.761 (kN)
3.0
2)

FORUMS8



®

) Vi Ws fi e | Li fi DE
No N Li(n) | (kN/m) KN) | (kN/m) (kN)
1 2.0 | 5.000 | 10.00 3.534 0.0 | 1.000 0.0
2 10.0 | 5.000 | 10.00 3.534 | 20.0 | 1.000 100.0
10.000 7.069 100.0
Ru=qd A+U = (Li fi DE)

= 8800.0  0.071 + 0.942  100.0 = 716.283 (kN)

.

Ra = * Ru
n
1.0
= —— . 716.283 = 358. 142 (kN)
2.0
1
Pa = — < Pu
n
Pu=U Z(Li fi)
Pa : (kN)
n o: 6.0 3.0
Pu : (kN)
1

HAE 7> 5 R E DIBIRG [k & T
Pu=U-XLi-fi

=0.942+ 100.0 = 94, 248 (kN)
EAGIE S|
1
Pa = — « Pu
n
1
= —— =+ 94,248 = 15. 708 (kN)
6.0

2)
AR D P E DIBIRS I Hh & )
Pu="U- XLi-fi

=0.942+ 100.0 = 94. 248 (kN)
RBITkE 77
1
Pa = — « Pu
n
1
= —— =+ 94,248 = 31.416 (kN)
3.0

FORUMS8



1.16.2

1.16.3
o

D

2)

0

D

(cm) (kN) (kN)
1.50 238.800 -15.700
2.00 358.142 -31.416
(N/mm?)
O O s T a T 2
1.00 8.000 160.000 0.390 | 1.700
1.50 12.000 300.000 0.585 | 2.550
(N/mm?)
O O s T a T 2
1.00 8.000 160.000 0.390 | 1.700
1.50 12.000 300.000 0.585 | 2.550
T al
T 2
(N/mm?)
1.00 140.000 140.000 80.000
1.50 210.000 210.000 120.000

FORUMS8



2
2.1
@
D
1
4
AN £l
7
2)
™ Vi Xi Vi Yi
x x Vi(m3 Xi vi 1 1 1 1
1 0.250x 1.900x  1.000 0.475 3.625 1.450 1.722 0.689
2 1/2x 0.050x 1.900x 1.000 0.047 3.767 1.133 0.179 0.054
3 1/2x 0.050x 1.500x 1.000 0.038 0.033 1.000 0.001 0.038
4 0.250x 1.500x 1.000 0.375 0.175 1.250 0.066 0.469
5 1/2x 0.100x 0.100x 1.000 0.005 3.467 0.533 0.017 0.003
6 1/2x 0.100x 0.100x 1.000 0.005 0.333 0.533 0.002 0.003
7 3.800x 0.500x 1.000 1.900 1.900 0.250 3.610 0.475
> 2.845 5.597 1.729
X6 = Vi Xi T Vi 5.597 2.845 1.967 (m)
YG > Vi Vi 2 Vi 1.729 2.845 0.608 (m)
2.2
@
[11 ( )
1
1
N
= |
| l |
i ) |
N |
Lo .
| ) |
| ) |
I | |
{ ) |
{ ) |
N ;
I N
|
|
|

L———

FORUMS8
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2)
™ Vi Xi Vi Yi
< < Vi (i) b b i Xi i Vi
1| 1/2x 0.040x 1.500x 1.000 0.030 3.787 1.500 0.112 0.044
> 0.030 0.112 0.044
XG > Vi Xi > Vi 0.112 0.030 3.787 (m)
YG > Vi Yi > Vi 0.044 0.030 1.500 (m)
@
[1] ( )
1)
1
L
[ [
P -
b v
I by
I Loy
I Loy
| [ i
| [ |
I Lo
I by
I Loy
- ,J i
i |
I I
e |
2)
™ Vi Xi Vi Vi
- i Xi i Vi
x x vim) Xi Yi
1| 1/2x 0.033x 1.000x 1.000 0.017 0.011 1.167 0.000 0.019
> 0.017 0.000 0.019
XG z Vi Xi Vi 0.000 0.017 0.011 (m)
YG > Vi Yi Vi 0.019 0.017 1.167 (m)
€))
[1] ( )
1)
.
U
= | [
] |
1 |
1 |
| |
] |
] |}
] P 3 |
i |
1 |
| |
| |
| |
I |
I
I I
| |
e -
2)
™ Vi Xi Vi Yi
y y Vi) b v i Xi i Vi
1| 1/2x 0.100x 0.100x 1.000 0.005 0.367 0.567 0.002 0.003

FORUMS8
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™ Vi Xi | Vi Vi
=73 1 1 1 1
x x vi(m) Xi Yi
2 0.100x 1.300x  1.000 0.130| 0.350| 1.250 | 0.045| 0.162
3 3.000x 1.400x  1.000 4200 1.900 | 1.200| 7.980 | 5.040
4| 1/2x 0.100x 0.100x  1.000 0.005| 3.433| 0.567| 0.017 | 0.003
5 0.100x 1.300x  1.000 0.130 | 3.450 | 1.250 | 0.448 |  0.162
s 4.470 8.493 | 5.371
X6 = Vi Xi @ TVi 8.493 4.470 1.900 (m)
Y6 T Vi Yi o ZVi 5.371 4.470 1.201 (m)
2.3
(€]
[1]
Wy v X
(kN) (m)
24.500 x  0.945 23.153 2.102
24.500 x  1.900 46.550 1.900
H W kh Y
(kN) (m)
23.153 x  0.12 2.778 1.327
46.550 x  0.12 5.586 0.250
)
[1] ( )
1)
Wy v X
(kN) m
( )| 10.000 x 4.470  44.700 1.900
H W kh Y
(kN) (m
( )| 44700 x 0.120 5.364 1.201

FORUMS8
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2)
. __W Hr=2.000
Fi=1.400 v
; —a
Hf=1.500
e
¥ ¥
Pf=15. 000
Pr=20.000
HF 1.500 (m)
Hr 2.000 (m)
Pf 15.000 (kN/m?)
Pr 20.000 (kN/m?)
Pf+Pr ,
U = *Bj+*Bec+ A = 66.500 (kN)
Pf+2 - Pr
X = ———— . 1.990 (m)
3 - (Pf+Pr)
Bj Bj 3.800 (m)
Bc Bc 1.000 (m)
A A 1.000
(©))
[1] (
(m (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni Xi Hi Vi
69.702 8.364 1.967 0.608 137.118 5.084
( 0.296 0.000 3.787 0.000 1.121 0.000
( 0.167 0.000 0.012 0.000 0.002 0.000
( 44.700 5.364 1.900 1.201 84.930 6.445
114.865 13.728 223.171 11.526
2.4
[1] (

FORUMS8
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Xp 3.813
yp 0.000
H 2.400
H1 0.400
H2 2.000
a 1.507
Yy S 18.000
@ 25.000
B 0.000
) 1 2¢ 12.500
AT E AR T,
X\ 2 X\ /X 2 (X
e () 2 (S e ()22
. 7 H, H, 7 \H,
0.550\° 2 0.550\°| . /0.550 2
:1+( )-_—1+( ) mw( )——{
2. 400 n 2. 400 2. 400 T
= 0. 75568

R EOWMAEESMWE q
v =— Vv °* Hs * IW
= 18.000X0. 500 X 0. 76568

6.801 kN/m’
X m X1 X2 2
X1 @m), X1
X2 (m), X2
H. (m

He Ho  Hi(m)

Ho (m H,  0.500

H, (m H qy
q (kN/m?) g

0 tan™kH tan™0.12 6.843 °

0.300
0.500

0.000
0.000

°3 3 3 3 =3

kN/m?

0. 550
2. 400

|

FORUMS8
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pl

p2=

cos’(¢g—a—86)

2 sin(é+0) ~sin(6—B—10)
cos B +costa +cos(a+0+6) |1+

cos{a+06+8) *cos(a— 8
cos?(25.00° —1.507° —6.843° )

cosb. 843° - cos’l.507° - cos{l.507° +12.500° +6.843° )
1

X

2
. sin(25.00° +12.500° ) - sin(25.00° —0.000° —6.843°
cos(1.507° +12.500° +6.843° ) + cos(1.507° —0.000°
0.4704

o B 6 0 sinfp B 6) 0
qg K 6.801x 0.4704 3.199 kN/m?

K+ ys-+Hl+pl

= 0.4704X18.000X0. 4004+3. 199

p3

6.587 kN/m?

p2 6.587 kN/m?

=K « (ysat—yw) » H2+p3

= 0.4704 X (19. 000— 10, 000) X 2, 000+6, 587

Ph

Pv

15.055 kN/m?

1
— « (pl+p2) -Hl = E§><< 3.1994+ 6.587) X 0.400 =  1.957 kN

1
— - (p3+pd) -H2 = E?><( 6. 5874 15.0565) X 2.000 = 21.641 kN

P1 P2 1.957 21.641 23.598 kN

P cos(a &) 23.598x cos( 1.507°  12.500° ) 22.896 kN

P sin(a &) 23.598x sin( 1.507°  12.500° ) 5.712 kN

FORUMS8




- 15 -

2+pl+p2 HL
M= Pl |[———— « —+H2
pl+p2 3
2X3.199+6.587  0.400
= 1.957X X +2. 000
3. 199+6. b87 3
4.260 kN.m
2+p3+pd H2
o= pg . |2 P2TPE T2
p3+p4 3
2X6.587+15.055  2.000
= 21.641X X
6.587+15. 055 3

18.828 kN.m

M1+M2 4.260+18. 828
Ho = = = 0.978 m
P1+P2 1.957+21. 641

X Xp Ho tana 3.813 0.978x tanl.507° 3.787 m
y yp Ho 0.000 0.978 0.978 m

1
|

———————————

Xp -0.017 m

yp 0.000 m

H 1.500 m

H1 0.000 m

H2 1.500 m

a 1.909 °
S 18.000 kN/m’
(0] 25.000 °

B 0.000 °

5 1 29 12.500 °

0 tankH tan'0.12 6.843 °

FORUMS8
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pl

p2=

cos’(¢g—a—86)

cos B *costa +cos{a+0+6) -

cos’(25.00° —1.909° —6.843° )

cosb. 843° - cos’1.909° - cos(1.909° —+12.500° +6.843° )
1

X

i+ sin(¢p +6) »sin(¢ —p5— 6
cos(a+d6+0) cos(a—28

. sin(25.00° +12.500° ) - sin(25.00° —0.000° —6.843°
cos(1.909° +12.500° +6.843° ) + cos(1.909° —0.000°
0.4734

o B 6 0 sinfp B 6) 0
qg K 0.000x 0.4734 0.000 kN/m?

K+ ys-+Hl+pl

= 0.4734X18. 000 X0. 000+4+0. 000

p3

0.000 kN/m?

p2  0.000 kN/m*

=K « (ysat—yw) » H2+p3

= 0.4734X (19. 000— 10, 000) X 1, 500+0. 000

Ph

Pv

f

6.391 kN/m?

1 1

7 (p1+p2) - Hl = E§><< 0.0004+ 0.000) X 0.000 =  0.000 kN
1 ] 1 o N Ny )
E—-®3+p® « H2 z-gx( 0.0004+ 6.391) X 1.500 =  4.794 kN

P1 P2 0.000 4.794 4.794 kN

P cos(a &) 4.794x cos( 1.909°  12.500° ) -4.643 KN

P sin(a &) 4.794x sin( 1.909°  12.500° ) 0.000 kN

jz

FORUMS8
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M2=

Ho =

0

2+pl+p2 HL
Ple |————— + —+H2
pl+p2 3
2X0.000+0.000 0.000
0. 000X +1. 500
0. 000+0. 000 3
0.000 kN.m
2 +p3+pd4d H2
P2 . £t bompt - HZ
p3+p4 3
2X0.000+6.391  1.500
4,794 X X
0.000+6. 391 3
2.397 kN.m
M1-+M2 0. 000+ 2. 397
= = 0.500 m
P1+P2 0.000+4. 794

Xp Ho tana -0.017 0.500x tan1.909° 0.000 m
yp Ho  0.000 0.500  0.500 m
[
b
[ L
[ [
} [
| [
| [
| [
~ | [
~4. 6439 N, | i
|
H 1.500 m
H1 0.000 m
H2 1.500 m
a 1.909 °
Yy s 18.000 kN/m®
® 25.000 °
B 0.000 °
5 1 29 12.500 °
tan™kH tan™0.12 6.843 °

FORUMS8
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pl

p2=

cos’{o+a—06)

*sin(¢ +3—10

) sin(¢ + 0§)
cos B *costa +cos{a—0—6) +«|1—

cos(a— 86 —0)

cos’(25.00° +1.909° —6.843° )

'cos(oc—Bj

cosb. 843° - cos’1.909° - cos(l.909° —12.500° —6.843° )

1
X

2
sin(25.00° +12.500° ) - sin(25.00° +0.000° —6.843°
cos(1.909° —12.500° —6.843% ) + cos(1.909° —0.000°

3.0384

o B 6 0 sinfp B 6) 0

q K 0.000x 3.0384 0.000 kN/m?

K+ ys-+Hl+pl

= 3.0384X18. 000X 0. 000+4+0. 000

p3

0.000 kN/m?

p2  0.000 kN/m*

=K « (ysat—yw) » H2+p3

= 3.0384X (19. 000— 10, 000) X 1, 500+0. 000

Ph

41.018 kN/m?

1
— « (pl+p2) -Hl = EX< 0.0004+ 0.000) X 0.000

1
— - (p3+pd) -H2 = EX( 0. 0004+ 41.018) X 1.500

P1 P2 0.000 30.764 30.764 kN

P cos(a &) 30.764x cos( 1.909°  12.500° )

0. 000 kN

30. 764 kN

-30.240 kN

FORUMS8
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p = h’
= e yy-
9 Y
h
Y = —
3
y W (kN/m*), y w 10.000
(m
(m
[1] ( )
[
. Fr=2.
_ Fi=1.400 . v
P ava P =
) B * N
F1=1.500 - ol
v ! | | |
= | | | [
| | | |
! | | |
b o
ro |
i o
P 5o
i \_ ______________ Y 4
I L
| [
e .
15. 000 20. 000
h P v
Q () ™
1.500 -11.250 0.500
2.000 20.000 0.667
2.5
Pro Pri PIO Rp RI
Rp RI Pro Pri P10
n -« K1 kh + H
6 ( + ) = Pr0 + Pr1 — P10
L 2
Pro (kN)
Prl (kN)
P10 (kN)

FORUMS8
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Ry — n-Kl- 6
b L
Rp (kN)
n ,n 8
K1 (kN/m)
o) (m)
RI PIO Pp
Rp Pro Pri Pp
kh-§ -1l
Rl =
2
RI (kN)
kh (kN/m®)
(m
(m, L 5.000
K1 kh Pro Pri P10 o)
(kN/m) (kN/m*) (kN) (kN) (kN) (m
4569.028 | 177717.313 42 .896 13.728 15.893 0.00029
H Rp RI RI PIO P,
(m (kN) (kN) (kN) (kN)
1.500 15.135 25.597 41.490 30.240
2.6
@
[1] ( )
B
| i
o L3 Lo -
[ = [
i | | |
Ava | | | i
= | | |
I (.
{ | | !
| |
/ ;I : Lo
|
L g
7 I
)
IL |
(kN.m)
Ni- (kN) Hi (kN) X (m) Yo | Me N Xeo [ Me HoYs
114.865 13.728 1.943 0.840 223.171 11.526

FORUMS8
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(KN..m)
Ne (kN He (kN) X (m) Yo m [ Me Ne X M HoY
~66.500 0.000 1.990 0.000 | -132.367 0.000
0.000 20.000 0.000 0.667 0.000 13.333
0.000 | -11.250 0.000 0.500 0.000 5.625
5.712 22.896 3.787 0.978 21.633 22.402
0.000 _4.643 0.000 0.500 0.000 2.322
0.000 | -25.597 0.000 0.500 0.000 _12.798
54.077 15.135 112.438 26.516
N, H, M,
(kN) (kN) (KN.m)
54.077 15.135 85.922
@
. o (kN)
. H, (kN)
Me  No B 2.0 M, (kN.m)
B, 3.800 m
| |
N. He M.
(kN) (kN) (KN..m)
54.077 15.135 16.825
= (5.000m)
N. He M.
(kN (kN) (KN..m)
270.387 75.673 84.125

FORUMS8
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2.7
_ XVuta - Pv
: U
2 Vu (kN)
a o 0.500
Pv (kN)
U (kN)
> Vu Pv U
(kN) (kN) (kN) f. fo
( ) 114.865 8.952 66.500 1.795 1.100
2.8
2.8.1
@
( )
10.000 (m)
0.000 (m)
(0} 300.0 (mm)
tl 0.0 (mm)
12 0.0 (mm)
E 20.0 x 10°  (N/mm%)
)
1
SKK400
t(mm) 5.0
(m) .= -2 t 300.0
(mm) @ .= @ -2 (t-t.) 290.0
(cm?) A=mn/4 (o -9°) 46.3385
(cem) Z=m/64 (@ -9 )/(@./2) 336.1469
(cn) 1 =m/64 (0 -0 5042.2033

FORUMS8
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2.8.2

3 800
500 ‘ 2800 500 [BA7 : mm]
O o |5
O O
S I
O O
e O |+t
4
Xi Ni 0 Zi Ni
(m ) ) () @m )
1.400 4 0.0 0 1 2.000 2
-1.400 4 0.0 0 2 0.667 2
3 -0.667 2
4 -2.000 2

FORUMS8
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2.8.3

2.8.4

€Y)

Bh
Knh = KhO(—)
.3
1
Kh0 = —— « « -« Fo
0.3
Kh (kKN/m®)
KhO 0.3m
(KN/m°)
a
Eo (kN/m?)
Bh (m) Bh Kh
1B
Bh = D 5 = 0.765 (m)
1B 1.952766 (m)
g o= KD 10004 ()
4-F
1 B Kh  9246.73145 (KN/m°)
B (m
B (m™)
D (M D  0.3000
E (KN/m?) E  200000000.0
I ) I 0.000050422
(m anz DE quZ
(kN/m) (/e KN/ (kN/m) (/e KN/
1| 5.000| 5600.000 9.247 | 9246.732 | 1.000 | 11200.000 18.493 | 18493.463
2| 5.000| 28000.000 46.234 | 46233.658 | 1.000 | 56000.000 92.467 | 92467.317
Ap - Ep
K, = a+» ——— = 1099765.973  (N/em) = 109976.597  (kN/m)
Ky
a L D
a 0014 L D +0.720  1.187
Ap Ap 0.0046  (n?)
Ep Ep 200000.0000 (N/mm?)
L 10.0000  (m)
0.3000  (m)

FORUMS8
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@

2.8.5

@

K1 K3

K2 K4

AXX
Ayx
Aax

AxX
Axy
Axa
Ayy
Aya
Aaa

Ho
Vo
Mo
o X

oy

Xi 1
01

WO

K1 (kN/m) 2727.881 4569.028
K2 (kN/rad) 0.000 0.000
K3 (kN.m/m) 0.000 0.000
K4 (kN.m/rad) 0.000 0.000
(kN/m)
(kN.m/m)
(kN/rad)
(kN.m/rad)
O0X Axy 0y Axa a = Ho
OdXx Ayy dy Aya a = Vo
O0X Aay Oy Aaa a = Mo
Z (KL cos®®@i K, sin® i)
Ayx > (Ky K1) sin@ i cosO i
Aax >{(Ky K1) X; sin@ i cosB i1 K2 cosO i}
S (K cos’®i K1 sin® i)
Aay S{(K, cos®@i K1 sin@i) Xi K2 sind i}
S{(Ky cos®@i K1 sin®i) X (K2 K3) X; sin@ i
(kN)
(kN)
0 (kN.m)
0 (m
0 (m
(rad)
X (m
i )
Axx Axy Axa 2, 18230E+004 0. 00000E+000
A= Ayx Ayy Aya 0. 00000E+000 8. 79813E+005
Aax Aay Aaa 0. 00000E+000 0. 00000E+000
4. 58231E-005 0. 00000E+000
A 0. 00000E+000 1. 13661E-006
0. 00000E+000 0. 00000E+000

0. 00000E+000
0. 00000E+000
1. 72443E+006

0. 00000E+000
0. 00000E+000
5. 79901E-007

FORUMS8



- 26 -

S
Axx Axy Axa 3. 65522E+004 0. 00000E+000 0. 00000E+000
Ayx Ayy Aya = 0. 00000E+000 8. 79813E+005 0. 00000E+000
Aax Aay Aaa 0. 00000E+000 0. 00000E+000 1. 72443E+006
2, 73581E-005 0. 00000E+000 0. 00000E+000
= 0. 00000E+000 1. 13661E-006 0. 00000E+000
0. 00000E+000 0. 00000E+000 5. 79901E-007
@
0 « 0, a
(cm) (cm) (rad)
) 0.207 0.031 0.00004878
©)
[1] (
PNi PHi Mti
(kN) (kN) (kN.m)
1 41.310 9.459 0.000
2 26.287 9.459 0.000
2.8.6
(cm) (kN) (kN)
( 0.207 2.00 41.310 358.142 26.287 -31.416

FORUMS8
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3
3.1
1)
[1]
W y A
(kN/m?)
24.500 x 0.250 6.125
24.500 x 0.300 7.350
24.500 x 0.250 6.125
24.500 x 0.300 7.350
W N B
46.550 3.500
13.300 (kN/m*)
N (kN)
B (m
2)
pl = Hf - Gw
pr = Hr « Gw
, pr — pl T1
1 = 1 + X — X
p (p B 5 Y
, pl — pr Tr
= + X —| X
pr (pr B 5 Y
pl* pl pr® pr
pl (kN/m?)
pr (kN/m?)
pl* (kN/m?)
pr- (kN/m?)
Hf (m
Hr (m)
Tl m TI 0.300
Tr (m Tr  0.300
(m) B 3.500
(KN/m*) Gw  10.000
% 1.000
(m) D) (kN/n) (KN/i) (kN/i) (KN/n)
0.800 1.150 8.000 11.500 8.138 11.362

FORUMS8
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1 + pl’ T1
pl = 2 TP o = x v
2 2
’ T
SR S
2 2
Pl (kN/m)
Pr (kN/m)
y y 1.000
Pl Pr
(KN/m) (KN/m)
1.210 1.715
3.2
[1] ( )
« )
H 2.150 m
H1 1.250 m
H2 0.900 m
a 1.507 °
ys 18.000 kN/m?*
@ 25.000 °
B 0.000 °
> 16.667 °
B AT AR S T,
X \' o2 X\ /X 2 (X
L, = 1+— | ——{1+|— | ltan|— | ——|—
Hw 7T Hw Hw s Hw
0.856\° 2 0.856\°|  [0.856 2
= —— {1+ tan i
(2.400 n 2. 400 2. 400 T
= (.65443

LR EOBFESAME a
dv =
= 18.000X 1. 111 X0. 65443

vy o H+ I,

13.089 kN/m?

0. 856
2.400

|

FORUMS8
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X (m) X1 X2 2

X1 (m), X1 0.300
X2 m), X2 1.111
H, (m

He Ho  Hi(m)

Ho m H 0.500

H: (m H q v 0.611
q (kN/m») g 11.000

cosz(([)—oa)

K =
2
sin(¢p+6) + sin(¢p — B8
cos’a *cos(a+6) |1+
cos(aw+6) *cos(a—1R
cos?(25.00° —1.507° )
cos’1. 507° + cos(1.507° +16.667° )
1
X
2
T+ sin(25.00° +16.667° ) * sin(25.00° —0. 000°
cos(1.507° +16.667° ) « cos(l.507° —0.000°
0.3717
pl g K 13.089x 0.3717 4.864 kN/m?

p2= K+ ys - Hl+pl
= 0.3717X18.000X 1. 250+4. 864
13.227 kN/m?

p3= K+ (ysat—yw) » H2+p2
= 0.3717X (19.000—10. 000) X 0. 900+ 13. 227
16.237 kN/m’

ph p cos(a &)
pv p sin(a &)
(KN/m?) (KN/m?) (KN/m?)

pl 4.864 4.622 1.517

p2 13.227 12.567 4.125

p3 16.237 15.427 5.064

1 1
P1= E « (p1+p2) -H1l = EX( 4. 8644 13.227) X 1.250 = 11.307 kN

FORUMS8
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Ph

Pv

Phs

Pvs

Phs
Phl
Phu
Pvs
Pvi
Pvu

P1

1
« (p247p3) +H2 = E§><( 13. 227+ 16.237) X 0. 900
P2 11.307 13.259 24566 kN
cos(a o) 24.566x cos( 1.507°  16.667° )
sin(a d) 24.566x sin( 1.507° 16.667° )
Phl Phu 27.296 23.340 3.956 kN
Pvl Pvu 8.961 7.662 1.299 kN
(kN)
(kN)
(kN)
(kN)
(kN)
(kN)
)
H 1.250 m
H1 0.700 m
H2 0.550 m
a 1.909 °
S 18.000 kN/m®
@ 25.000 °
B 0.000 °
o) 16.667 °

= 13.259 kN

23.340 kN

7.662 kN

FORUMS8
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cos’(¢p—a)

sin(¢ + §)
cos’a *cos(a+98) « |1+
cos(a+9)
cos?(25,00° —1.909° )

cos®l.909° - cos(1.909° —+16.667° )
1

X

'ﬁn(é—-ﬁf

ccos(a— 3

2
. sin(25.00° +16.667° ) + sin(25.00° —0.000°
cos(1.909° +16.667° ) « cos(1l.909° —0.000°

0.3746

pl g K  1.000x 0.3746  0.375 kN/m?

p2= K+ ys+Hl+pl
= 0.3746X18. 000X 0. 700+0. 375
5.095 kN/m?

p3= K+ (ysat—yw) - H2+p2
= 0.3746 X (19. 000—10. 000) X 0. 550+5. 095
6.949 kN/m?

ph p cos(a &)
pv p sin(a o)

(KN/m) (kN/1TP) (kN/1TP)

pl 0.375 0.355 0.119
p2 5.095 4.829 1.623
p3 6.949 6.587 2.214
1 1
Pl= 5 (pl4+p2) -+ HL = E§><< 0.3754+ 5.095) X 0.700 = 1.914 kN
1 1
p2= 5 (p2+p3) *H2 = E§><< 5.0954+ 6.949) X 0.550 =  3.312 kN

P P1 P2 1.914 3.312 5.226 kN

Ph P cos(a &) 5.226x cos( 1.909°

16.667° ) 4.954 kN

FORUMS8
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PP P sin(@ 3) 5.226x sin( 1.909°  16.667° ) 1.665 kN

Phs Phi Phu 6.700 4.954 1.747 kN

Pvs Pvl Pvu 2.252 1.665 0.587 kN

Phs (kN)
Phl (kN)
Phu (kN)
Pvs (kN)
Pvl (kN)
Pvu (kN)

3.3
3.3.1
pi = hi - Gw
pi (kN/m?)
hi (m)
Gw (KN/m*)  Gw 10.000
i T
po — ot pi T
2 2
Po (kN/m)
po (kN/m?)
T m T 0.500
[1]
1
| |
| |
F b
! | | |
! | | |
| | | |
| | | | _
b o Fr=1.150
P Do z
F1=0.800 P ;o )
x P b
N J L
P1-1.688 ' I Pr=—2.562
5. 5001 | —9.000

FORUMS8
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3.3.2

hi pi ho po Po
(m (KN/m%) (m (kN/m*) (kN/m)
0.550 5.500 0.800 8.000 1.687
0.900 9.000 1.150 11.500 2.562
Pro Prl P10 Rp RI
Rp RI Pro Pri P10
n « K1 kh « H
¢ + ) = Pr0 4+ Prl1 — P10
L 2
Pro (kN)
Prl kN)
PIO (kN)
Ry — n+<Kl-+ o
. L
Rp (kN)
n ,n 8
K1 (kN/m)
0 (m)
R1 PIO Pp
Rp Pro Pri Pp
kh+ o6 +H
Rl = ——
2
RI (kN)
kh (kN/m*)
(m)
(m, L 5.000
K1 kh Pro Pril P10 o
(KN/m) (KN/m) (kN) (kN) (kN) (m)
2727.881 | 88858.656 33.909 0.000 9.900 0.00034
H Rp RI RI PIO P,
(m) (kN) (kN) (kN) (kN)
1.500 1.476 22.533 32.433 70.734

FORUMS8
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3.3.3

el = 2°Rl1
b H
Rlp - H
Rlp ’'=
b H
Rlp (kN/m?)
Rlp * (kN/m?)
H (m
H* (m)
H H* RIp RIp®
() () (KN/) (KN/)
1.500 1.250 30.044 25.036
R1 ’
P — p + Rlp % T
2 2
P (kN/m)
T (m T  0.500
P
(kN/m)
6.885
kvi = KV +n/L
khi = K1 * n/L
kvi (kN/m)
khi (kN/m)
Kv (kN/m)
K1
(kN/m)
m), L 5.000
1
Kv K1 n kvi khi
(kN/m) (kN/m) (kN/m) (kN/m)
109976.597 2727.881 4 87981.278 2182.305
109976.597 2727.881 4 87981.278 2182.305

FORUMS8
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3.3.4

[1]

Kv K1 kvi khi
(kN/m) (KN/m) (kN/m) (kN/m)
109976.597 4569.028 87981.278 3655.222
109976.597 4569.028 87981.278 3655.222
)
Ik
/% \
[ |
= |
(m (m (kN/m) (kN/m)
0.000 1.500 6.125 7.350
0.000 1.900 6.125 7.350
0.000 3.500 13.300 13.300
1.400 0.100 0.000 2.450
1.800 0.100 0.000 2.450
m (m) (KN/n) (KN/n)
0.500 0.700 0.355 4.829
0.500 0.700 0.119 1.623
1.200 0.550 4.829 6.587
1.200 0.550 1.623 2.214
1.750 0.000 1.747 0.000
1.750 0.000 0.587 0.000
0.000 1.250 -4.622 -12.567
0.000 1.250 1.517 4.125
1.250 0.900 -12.567 -15.427
1.250 0.900 4.125 5.064
2.150 0.000 -3.956 0.000
2.150 0.000 1.299 0.000
0.500 1.250 0.000 25.036
1.750 0.000 6.885 0.000
1.200 0.550 0.000 5.500
1.750 0.000 1.687 0.000
1.250 0.900 0.000 -9.000
2.150 0.000 -2.562 0.000

FORUMS8
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0 0 (kN/m) (kN/m)
0.000 3.500 | -8.138 | -11.362
0.000 0.000 | -1.210 0.000
3.500 0.000 | -1.715 0.000

FORUMS8
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3.3.5

[1]

D

2)

3)

4.612/

11. 374}

-21. 695

—-19. 352

FORUMS8
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3.3.6
1)
g 20 [As + (x—d)} =0.0
b
L x&ERDD,
M
oO. —
b x h «x (x—d) « (h,/2—d)
———|+n-As -
2 2 3) X
d—x
O: — n [0
X
X (mm)
h (mm)
b (mm) b 1000.000
d (mm)
As (mm*)
n n 15.00
e (mm)
gcC (N/mm?)
oS (N/mm?)
M (N.mm)
2)
S
Tho = : é T a1
b-d
L (N/mm?)
S, )
(mm)
b (mm)
T (N/mm?)
[1]
1)
N E
1 =]
= [BAL : mm]
S m

FORUMS8
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(cm) (cm’/ ) (cm®)
1" — —
2| — —
1 7.0 D10 0.713 8.00 5.706
o | |
3.181 (cm?)
2)
( )
M kN.m 15.921
N kN E—
S kN 21.695
B mm 1000.0
H mm 400.0
d mm 330.0
A cm’? 5.706
A" cm? 0.000
X mm 67.090
o. N/mm? 1.543
0 N/mm? 8.000
o
o- N/mm? 90.689
0 N/mm? 160.000
@]
T N/mm? 0.066
T a N/mm? 0.390
o
[2]
1
W E
] 1 )
S mE

[BfL : mm]

FORUMS8
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(cm) @/ ) (cm?)
1| —
2| —
1 7.0 D10 0.713 8.00 5.706
R —
0.900 (cm?)
2)
( )
M kN.m 4.612
N kN E—
S kN 13.872
B mm 1000.0
H mm 400.0
d mm 330.0
A cm’? 5.706
A" cm? 0.000
X mm 67.090
o. N/mm? 0.447
0 N/mm? 8.000
o
o- N/mm? 26.269
0 N/mm? 160.000
@]
T N/mm? 0.042
T a N/mm? 0.390
o
3.4
3.4.1
pi = hi - Gw
pi (kN/m?)
hi (m)
Gw (kN/m®)  Gw 10.000

FORUMS8
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o= Bt T
2 2
Po (kN/m)
po (kN/m?)
T m T 0.500
[11
r=1
il
B
o o
P o
P ol
b ol
. . _
Lo o Fr=1.150
(o] P Z
F1=0.800 . o -
Av4 ! ) |
+ | [N
N L
P1=1.68 ' L Pr=-2.562
5. 500l | —9.000
-
hi pi ho po Po
) (KN/) ) (KN/m?) (kN/m)
0.550 5.500 0.800 8.000 1.687
0.900 9.000 1.150 11.500 2.562
3.4.2
Pro Pri PI0 Rp RI
Rp RI Pro Pri P10
n « K1 kh « H
6 ( L + ) = Pr0 4+ Prl — P10
Pro (kN)
Pri (kN)
P10 (kN)
Ry — n+<Kl- o
b L
Rp (kN)
n ,n 8
K1 (kN/m)
5 (m)
RI PIO Pp
Rp Pro Pri Pp

FORUMS8



kh+ 6 - H
RI = ————
2
RI (kN)
kh (KN/m*)
(m
m), L 5.000
K1 kh Pro Pri P10 o
(kN/m) (kN/m’) (kN) (kN) (kN) ()
2727.881 | 88858.656 33.909 0.000 9.900 0.00034
H Rp RI Rl PIO P,
(m (kN) (kN) kN) (kN)
1.500 1.476 22.534 32.433 70.734
el o 2°RI
P i
Rlp - H
Rlp "= ———
b H
Rlp (kN/m?)
Rlp - (kN/m?)
H (m
H* (m
H H* RIp RIp®
(m) (m) (kN/m) (kN/m)
1.500 1.250 30.045 25.037
R1 ’
2 2
P (kN/m)
T m T 0.500
P
(kN/m)
6.885

FORUMS8
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3.4.3

3.4.4

[1]

kvi = KV +n/L
khi = K1 * n/L

kvi (kN/m)
khi (kN/m)
Kv (kN/m)
K1
(kN/m)
(m, L 5.000
Kv K1 n kvi khi
(kN/m) (kN/m) (kN/m) (kN/m)
109976.597 2727.881 4 87981.278 2182.305
109976.597 2727.881 4 87981.278 2182.305
1
Kv K1 n kvi khi
(kN/m) (kN/m) (kN/m) (kN/m)
109976.597 4569.028 4 87981.278 3655.222
109976.597 4569.028 4 87981.278 3655.222
)
VA
Il
\
ﬁ |
il \
e |
(m (m (kN/m?) (kN/m?)
0.000 1.500 6.125 7.350

FORUMS8
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m m (kN/m) (KN/m)
0.000 1.900 6.125 7.350
0.000 3.500 | 13.300 13.300
1.400 0.100 0.000 2.450
1.800 0.100 0.000 2.450

m m (KN/m) (kN/m)
0.000 0.000 0.015 0.000
0.000 0.000 0.056 0.000

m m (KN/m) (kN/m)
0.500 0.700 0.355 4.829
0.500 0.700 0.119 1.623
1.200 0.550 4.829 6.587
1.200 0.550 1.623 2.214
1.750 0.000 1.746 0.000
1.750 0.000 0.587 0.000
0.000 1.250 | -4.622 -12.567
0.000 1.250 1.517 4.125
1.250 0.900 | -12.567 -15.427
1.250 0.900 4.125 5.064
2.150 0.000 |  -3.956 0.000
2.150 0.000 1.299 0.000
0.500 1.250 0.000 25.037
1.750 0.000 6.885 0.000
1.200 0.550 0.000 5.500
1.750 0.000 1.687 0.000
1.250 0.900 0.000 -9.000
2.150 0.000 |  -2.562 0.000

m m (kN/m) (kN/m)
0.000 3.500 | -8.138 -11.362
0.000 0.000 | -1.210 0.000
3.500 0.000 | -1.715 0.000

FORUMS8
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3.4.5

[1]

D

~\L1E "L

2)

3)

606 €€

€91 €€

FORUMS8
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(mm)

15.00
(mm)

3.350(m)

3.4.6
=1
| |
| ]
= ]
0o P
{ | | |
| | | |
| | | |
| | | |
1 | | |
1 | | \
! | | |
| | | |
o] by
I |
| |
| |
L__}‘<I: ___________ L ___________ ]‘ L_J
11727 2 4373
1)
1 2 3
0.150 | 1.750 | 3.350
2)
1 2 3 4
0.250 | 0.350 | 3.250 | 3.150
@
2+n
xt+ . {As + x—d)}=0.0
L VxERDD,
M
0O, —
b x h x (x—d) - (h,2—4d)
c=—=)4n-as-
2 (2 3) X
d—x
O — N [P
X
X
h (mm)
b (mm) b 1000.000
d (mm)
As (mm?)
n n
e
oc (N/mm?)
os (N/mm?)
M (N.mm)
[1] [1] 0.150(m),

FORUMS8
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1)
+ m
v S
! 3
= [ : mm]
T &
(cm) (cm’/ ) (cm®)
1" 10.0 D10 0.713 8.00 5.706
2" — —
1 10.0 D10 0.713 8.00 5.706
2 PR -
1.179 (cm?)
2)
( )
M kN.m 7.317
N kN E—
S kN E—
B mm 1000.0
H mm 500.0
d mm 400.0
A cm’ 5.706
A" cm’ 0.000
X mm 74.646
o. N/mm? 0.523
O « N/mm? 8.000
o
o N/mm’ 34.178
(o 0 N/mm? 160.000
o
[2] [2] 1.750(m), 1.750(m)

FORUMS8
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1)
+ m
! 3
= [ : mm]
T &
(cm) (cm’/ ) (cm®)
1" — —
2" — —
1 10.0 D10 0.713 8.00 5.706
2 PR -
2.855 (cm?)
2)
( )
M kN.m 17.442
N kN E—
S kN E—
B mm 1000.0
H mm 500.0
d mm 400.0
A cm’ 5.706
A" cm’ 0.000
X mm 74.646
o. N/mm? 1.246
O « N/mm? 8.000
o
o N/mm’ 81.479
(o 0 N/mm? 160.000
o
[31 [3] 3.350(m), 0.150(m)

FORUMS8
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1
+ m
1 g
T m|
(cm) (cni/ ) (cm?)
1" — —
2| — —
1 10.0 D10 0.713 8.00 5.706
9 | |
3.113 (cm?)
2)
( )
M kN.m 18.983
N kN E—
S kN E—
B mm 1000.0
H mm 500.0
d mm 400.0
A cm? 5.706
At cm? 0.000
X mm 74.646
o N/mm? 1.356
O N/mm? 8.000
o
o- N/mm? 88.677
(o N/mm? 160.000
@]

[BfL : mm]

FORUMS8
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@
T, = b?ii =t
T, (N/mm?)
Sh )
d (mm)
b (mm)
T a
[1] [1] 0.250(m),
)
M kN.m E—
N kN E—
S kN 12.547
B mm 1000.0
H mm 500.0
d mm 400.0
T N/mm* 0.031
T a N/mm* 0.390
o
[2] [2] 0.350(m),
)
M kN.m B
N kN E—
S kN 19.030
B mm 1000.0
H mm 500.0
d mm 400.0
1 N/mm? 0.048
T a N/mm* 0.390
o
[3] [3] 3.250(m),

(N/mm?)

3.250(m)

3.150(m)

0.250(m)

FORUMS8




- 51 -

)
M kN.m E—
N kN E—
S kN 20.739
B mm 1000.0
H mm 500.0
d mm 400.0
T N/mm? 0.052
T a N/mm? 0.390
o
[4] [4] 3.150(m),
)
M kN.m E—
N kN E—
S kN 20.961
B mm 1000.0
H mm 500.0
d mm 400.0
T N/mm? 0.052
T a N/mm? 0.390

0.350(m)

FORUMS8
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